STV PorEm 1B ov p3T B
Unit 1 Review ’%ml;f gt i

> gxampe 5 p = (b i)
Find the mean, median, and mode of each data se

1.#-{3‘{*. 0, 2.%?5,2. 5) 2.{N, 15,4, 10, 7.5, 11}
mean: D25 weandq " 0
mode-Z2%5

medion. 5

Find the expected values. A

Name: MM{ %CKF\'W\NS}{Y

3. The probability distribution for the number of free throws that Larry makes in a game is given
below. Find the expected number of free throws that Larry makes in a game.
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4. The probability distribution for the number of pieces of junk mail May receives is given below.
Find the expected number of junk mail letiers May receives in a day.
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Make a box-and-whisker plot of the data. Tell the value of each point angp!?nd the interquartile
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9. A chemist weighs samples obtained from a production run. The weights of the samples are 13 g,
149,659,119,159,149,149,129, 139, 159, 14 g, and 12 g. Round to 1 decimal place.

S%P 2 a. Find the mean of the data. i+ %
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Decide whether sampling method could result in a biased sa . Explain your reasoning.
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10. A representative of a mall surveys every fifth person walking into an electronics store to ask foPULATIDN
if they would like there to be a new store that sells audio equipment in the mall.

MASED - ENTWT ppu FPULAN O~ 15 U dde ERTSENTED
£15C JupiD BOROLATION 1S OVER 1

11. A researcher wants to know the average amount of student debt people who are earning
degrees expect to have. She surveys 100 randomly-selected students at an expensive
medical school. :
RIASED ¢ poRLATION DF WSTLC 12D DeREES (Nok - ﬂ‘f&) 15 udiR RERESTAIED

PRULATION oF mZD STUDENTS 15 ovee P4LESTNTER

Decide whether the results of the survey are likely to be repre ive of the lation.
Explain.

12. The manager of a movie theater wants to know what type of movies his customers prefer.
He asks every third customer coming out of a comedy movie.
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13. The manager of a mavie theater wants to know what type of movies his customers prefer.
He asks every tenth customer who enters the theater over a period of time when the theater
is showing an assortment of movie types.
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One hundred students out of 2000 at a school have been surveyed. The results are recorded in
each problem below. Predict the number of students in the population that would answer
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15. said they had transferred from another school.
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16. A park ranger measures the change in height of all trees of a similar species and age over
a monih. Half the trees are within a quarter of a mile from a large lake and half are further

away.
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17. A park ranger plants 10 trees within a quarter of a mile from a large lake and 10 trees of a
similar species and age further than half of a mile from the lake. He then measures the
growth of all trees over a month.
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18. A zoo installs small "coves’ in hal® of -he wikbeer mops . The cage povites shade and
privacy for the animals and are just large enough to hold a wildcat that |5 Iylng down. The
caretaker ok the 2cp Hhen compases the Slerping habts ok widazts wih twves 1o their
cages lo the sleeping habits of wildcats wﬂhout them.
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19. A caretaker at a zoo records the sleeping habits of the wildcats at the zoo for a month.
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The study described below is a randomized comparative expenmenl Descri t treatment, the
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20. A researcher feeds one group of rats high-fat and high-calorie foods like cheesecake,
bacon, and pastries. She feeds a second group of rats a normal, nutritious diet. For two
weeks, the researcher records how many calories each rat eats daily, as well as how often
it goes to its feeding bowl. She compares the data from the one group to the data from the
other and finds that the rats that eat the nutritious food get hungry less often and eat a
smaller number of calories overall.
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21. A college professor wants to know if students learn as well in an online class as in person.
He decides to offer the same course both online and in a classroom. Students who sign up
for the course are told thev will be assigned to either class randomly. The professor then
gives the same test to both classes and compares the scores.
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22. Mr. Kaplan is supervising an experiment in his science class in order to find out whether
adding salt to water causes the waler to boil more quickly. Each student in the class
records how long it takes his or her beaker of water to boil when placed on a burner. Half of
the students do not add salt to the water (control group) and half add a teaspoon of salt to

the water (treatment group). The time, in seconds, that it takes each beaker of water to boil
is shown in the chart below.

Control 65 | 78|64 | 7175 |
Treatment 617073 [69 64 |

a. State the null hypothesis for the experiment.
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least S mpg. Among 25 cars that were treated with the additive, the average increase in
mileage was 4.3 mpg with a standard deviation of 1.6 mpg.
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Classify each sample as simple random, systematic, stratified, cluster, convenience, or self-

selected. //% 2+ ANS SY{}_EMPQT{C
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25. A hair salon surveys every customer on a busy Saturday and on a slow Monday about

whether the services took longer than the customer expected.  fhpul/Tis - 2usFbypls THAT GoEs T 78
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26. A college newspaper reporter surveys 50 randomly selected students on ¢ campus 4.A
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29. Hilary and Mickael are running for class ident. A poll taken a week before the election
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Scores on a test are normally distributed with a mean of 80 and a standard deviation of 5. Use the
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34. The wait times, in minutes, of 10 customers in line at a grocery store are given below. The
mean wait time is 7 minutes with a standard deviation of 5. Tell whether the data appear to
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In each of the problems below, a card will be drawn at random from the four cards shown. Find
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38. Chelsea has been offered two jobs. Her pay rate at either job will be determined by how
well she does on a test. At Company A, she has an 80% chance of getting a pay rate of $12
and a 20% chance of getting a pay rate of $15 an hour. At Company B, she has a 60%
chance of getting a pay rate of $10 an hour and a 40% chance of getting a pay rate of $15
an hour. At which company is she more likely to get a higher pay rate? Explain.
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traffic, but 51 minutes with traffic. Route B takes 38 minutes without traffic, and 55 minutes
with traffic. She estimates a 30% chance of encountering fraffic on Route A and a 40%

chance of encountering traffic on Route B. Which route would you recommend Mallory
take? Explain.
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